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Problem 3: (30 pts.) In the circuit shown in the figure, energy is being dissipated in the
8.00 kS resistor at a rate of 80.7 mW.

a. (25 pts.) What is the resistance Ry?
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b. (5 pts.) Now suppose Ry were doubled. Would the power in the 8 k) resistor increase,
decrease, or stay the same? Explain your answer briefly, but clearly.
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Problem 3: (30 pts.) In the circuit shown in the figure, energy is being dissipated in the

8.00 k(2 resistor at a rate of 80.7 mW.

a. (25 pts.) What is the resistance Rp?
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b. (5 pts.) Now suppose Rz were doubled. Would the power in the 8 k() resistor increase,

decrease, or stay the same? Explain your answer briefly, but clearly.

J“ 29\ M,MW?«»M, (71*‘1;‘““

Tricrease .

,{MM oi 2.1“"1 ER_ ‘:"\0"-“4'“‘): LCA/.LM;'\
Voua’;_ aonn The Tl dl msghe ©W s mume Thow QS.‘IV)o-aQ’ﬁ\.:

Powen

VL/( 5 Mevase,

-





